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INSTRUCTIONS TO THE CANDIDATES

1. This Question Booklet is printed in Hindi and English languages. Candidates should select any
one of the two languages according to their convenience.

2. The Question Booklet contains 100 questions. The examinee should verify that the requisite
number of questions are printed in the Question Booklet, otherwise he/she should ask for
ano@her Question Booklet.

3. All questions are compulsory.
4. All questions carry equal marks.

5. The cover page indicates the number of pagesin the Question Booklet. The examinee should verify
that the requisite number of pages are attached in the Question Booklet, otherwise he/she
should ask for another Question Booklet. :

6. Read carefully the instructions given on the Answer Sheet supplied and indicate your answers
accordingly.

7. Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else.

8. Examinee should do all rough work on the space meant for rough work in the pages given at the
end of the Question Booklet and nowhere else, not even on the Answer Sheet,

9. Ifthere is any sort of mistake either of printing or of factual nature in any question, then out of the
Hindi and English versions of the question, the English version will be treated as standard.
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1.

. Akash travelled 4 km straight towards

south. He turned left and travelled
6 km straight, then turned right and
travelled 4 km straight. How far is he
from the starting point?

(A) 18 km
B) 12 km
(C) 10 km
(D) 8 km

A’ product costing ¥60 per unit to
produce had been selling at the average
rate of 1200 units per month. After the
product was improved, sales increased
to an average of 2000 units per month.
However, the new product cost five
percent more to produce. If the
manufacturer’s selling price in each
instance was ¥ 75 per unit, what was
the manufacturer’s addéd - profit per
month with the newer product?

(A) ¥4,000 (B) ¥6,000

(C) €8,000 (D) €9,000

In an industry, 10% of the employees
have a salary of ¥20,000; 30% a

- salary of ©25,000; 50% a salary

of £30,000; 10% a salary of ¥40,000.
What is the average salary?

(A) ¥28,500 (B) ¥36,500

" (C) ¥24,000 (D) 19,000

S/F/P/11/2018/2-A

o 7 .
Aman, Anil and Atul agree to buy ¥ 10

worth of lottery ticket with Aman
contributing €5, Anil ¥3 and Atul ¥2.
They agree that if they win anything
with this ticket, it should be shared out
in the same ratio as their contributions.
If they win ¥25,000, how much does
Anil get?

(A) ©4,000 (B) €5,000

(C) ¥6,500 (D) ¥7,500

5. Ravi has one and a half times as many

" as Raj, and Raj has one and a half times

as many as Rakesh. Altogether they
have ¥76,000. How much Raj has?

(&) ¥ 12,000 (B) 16,000

(C) #24,000 (D) ¥36,000

6. What is the longest side of a rectangle
which has a perimeter of 70 units and
an area of 276 square units?

(A) 12 units (B) 18 units

(C) 23 units (D) 36 units

7. If a person has to drive 210 km, how
long will the journey take if he drives
-at an average speed of 20 km/hr for
120 km and at an average speed of
30 km/hr for 90 km, and have a
60 minutes stop for refreshments
midway through the journey?

(A) 7 hours (B) 8 hours

(C) 9 hours (D) 10 hours

8. Slmphfy the following :
0-9%0-9x0-9— 04x04x04
0:9%0-9+0-4x0-4+0-9%x0-4

&) 1.3 {B) 0-9

() 0-5 (D) 0-4

Directions (Question Nos. 9 to 11) : For each
of the following words, a context 'is provided.
From the alternatives, pick the word/phrase
that is closest in meaning to the given context.

9. Incorrigible : Even after spending a year
in jail, the man remained iqcorﬁgible.
{A) Unreformed '

(B) Regretful
(C) Reformable

. (D) Penitent

[P.T.O.
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10.

11.

12.

13.

14.

=Auda.c,ious ot :
. disregard for innocent bystanders, the

‘Disheveled : After:long working hours,

the police officer looked tired and

disheveled.
(4) “Happy
(B) Well-groomed
(C) Untidy
(D} Enthusiastic

With . an audacious
police opened fire at the criminals.
(A) Useless )

(B) Foohsh

(C) Necessary

(D) Defiant

Which of the following i)od& languages

.shows that you are listening?

(A) Tumning away from the speaker
(B) Nodding and making eye contact

(C) Checking your e-mail ‘on phone
- " while speaker is talking

(D) Looking out of the window

Which one of the following is not %

“communication skill? -

(A) Listening
{B) Speaking
(C) Swimming

(D) Hand waving

You hear of a terror attack and are

. aghast, then you would look

'(A) pleased

(B) horrified - _ .

. (€} ignorant

S/F/P/11/2018/2-A

(D) delighted
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.Directions (Question Nos. 15 to 17)

- Fill'in

the blank with the most suitable choice.

18..

16.

17.

Bl

While writing an . apology letter, one .
should focus primarily on

(A) the problem itself

(B) compensation

'(C) rectification of the problem

'(D) font of the letter’

It is impossﬂale to interact with each
other without

(A) voice
(B) hands
{C) phones

(D) communication skills

' is a technique that involves
changing of text content such that the
gist is similar to the source.

(A) Paraphrasing
(B} Quoting
(C) ' Note-taking

(D) Summarizing

18. You are a receptionist at the front desk

of a hospital. An emergency accident

‘case is brought in by some people.

What will you do?

(A) Pirst complete the admission
procedure and then call the doctor
on duty

(B) Call 'the doctor on duty and
start the admission procedure
simultaneously

(C) Inform the police and wait for the
" police to come

- . (D) " Call the doctor on duty, inform the

police and start the admission
procedure .

{P.T.O.
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-19.

There is an aggressive stray dog in your
residential area.-One of your neighbours

feeds this dog.in. front of your house

even after repeated requests not to do

. So as it - creates a nuisance for you.
What will you do?

- (A} Ward off the .dog

(B) Abuse and fight with your
neighbour

(C) Apprise the neighbour of the law,
request him not to feed in front of
your house and if required put a
police complaint

- (D) Kill the dog

20.

21.

You are walking by on a street.
Suddenly a fight breaks up between two
people. What will you do?

(A) Try to take cover to save yoursell

(B) Call the police and-inform about
the incident

(C) Stand there and make a video to
upload it for your friend

(D) Try to find out the problem and
intervene

You go to a shop to buy groceries and
ask for an invoice. The shopkeeper
demands extra money as taxes for
issuing the invoice. What will you do?

(A) Pay 'thertiaxes and get an 'ir_1voice

(B) Take the groceries and go home
without the invoice

(C) Feel happy as you could get the
goods by paying less

(D) Tell your friends how to get
commodities for lesser price by not
taking proper invoice

22. ‘You-are travelhng in-a bus. An elderly
-man boards the bus, but no seats are

available. What will you do?
(A) Ignore the elderly man and look

elsewhere
(B) Ask the conductor to find a seat for
“the elderly man :

(C) Give up your seat and ask the -
'elderly man to sit down

(D) Suggest the elderly man to get
down at next stop as the bus is
crowded

23. You and your family are going to an
_auditorium to attend your son’s musical

concert, but get stuck up due to traffic

issue and expect to get late. The seating

is on first come first served basis. One
of your friends who also happens to be
there is able to make it to' the front
rows. What will you do?

(A) Call your friend and ask him to
secure seats for you and your
family

(B) Reach the auditorium and fight

with the authorities to .arrange
front row seats ’

{C) Reach the 'auditorium -and sit
wherever seats.are available

(D) Try to jump traffic signals to
reach the auditorium on time to
secure front row seats

24. You are an examiner conducting an

exam. You doubt that a student is trying

to look over into another student’s

answer sheet. What will you do?
(A) You will shout loudly so that the
~ student may deter from attempting
to copy
(B)' You will relocate the student to
another desk in the exam room

(C) Tell the nearby students about
your doubt and ask them to be
careful with their answer sheets

(D) Keep the concerned student under
" vigilance and verify if your doubt is
actually. true :

=

S/F/P/11/2018/2-2 [P.T.O.
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25.

26.

You are teaching in a class. A student
gets up and asks a question to which
you don’t know the correct answer.
What will you do?

.(A) You will scold the student for
trying to disrupt the proceedings of
the class

(B) You will try to answer the question
in a roundabout manner such that
the student may not think that you
don’t know the answer

(C) Ask a counter-question and ask
him to read more

(D) Tell the student that at the
moment you don’t know the
answer, but you will try to find an
answer for him ’

You are a police officerr A man
complains that he has paid dowry to the
in-laws of his daughter and that she is
a victim of domestic violence. What will
you do?

(A) Go and arrest the in-laws right
away

{B) Investigate and arrest the in-laws if
deemed necessary

(C) Investigate and arrest the in-laws .

if deemed necessary, and frame
charges against the man for paying
dowry

(D) Counsel the person and ask him to
talk to his daughter’s in-laws for a
better future of her daughter

27.

28.

29.

S/F/P/11/2018/2-2 )
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One of your colleagues thinks th;at
she is being harassed. by the boss.
What will you do?

{A) You will try to understand the

situation and only if you feel
same will ask her to approach
appropriate authority '
(B) You will try to understand the
situation, apprise her of your
opinion and suggest her to take a

decision to approach appropriate
authority immediately

(C) You will ask her to bear with the
situation as it will bring bad name
to her '

(D) You will tell others about your
colleague so that others may
exercise caution

In a code language, TINY is coded as
RGLW. In the same language, ZEBRA
will be coded as

(A) XCZYP

(B) XCZPY

(C) XzCPY

(D) XZCYP

If LAMP is coded as 30-52-28-22, then
TOY will be coded as

(A) 14-24-4

(B) 20-15-25

(C) 14-4-24

(D} 20-25-15

[P.T.O.
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(D) 9:45 a.m.
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W, @ T 9 § e EFan # 7:00 pom.
W T GAG BATI?
(A) 5:25 p.m.
(B) 5:30 io.m.

(C) 8:25 p.m.

(D) 8:30 p.m.
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(A) 2029
(B) 2030
(C) 2034

(D) 2037
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Directions (Question Nos. 30 and 31) : There
is same relationship between the information
given on both sides of the (:). Find the most
appropriate choice for the missing information
in these questions. '

30. 16 : 64 :: 40 : ?

31.

B 37

32.

33.

S/F/P/11/2018/2-A ‘ ' 1
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(A) 4 "
B 40
(C) 400

(D) 4000

PITY : 35 :: NOTE : ?

A) 27

(C) 54
(D) 74
In a class of 250 stﬁdénf's, 90% of the

class have ranked below Raju. How
many students have ranks above Raju?

A) 23
(B) 24
(©) 25
D) 26

In a class' of 50 students, Raghu’s
rank is twice that of Paul. There are

. 10 students who have ranks worse
_ than that of Raghu. Paul’s rank in the

class is
(A) 5th
(B) 10th -
(C) 15th

(D) 20th "

34. Umar reached the place of meeting

. 30 minutes. before time. Arvind reached.

45 minutes late for the meeting. The
meeting finished at 11:00 am,,
30 minutes after -Arvind reached the

' meeting. At what time did Umar arrive

38,

for the meeting?
(A) 9:00 a.m.

(B) 9:15 a.m.

"(C) 9:30 a.m.

(D) 9:45 a.m.

A watch gains 12 minutes per day. If

- the watch was slow by 5’ 'minutes at

7:00 am. on Monday, what time will
this watch show at 7:00 p.m: on next
Monday?

‘ (A) '5:25 p.m.

.36.

(B) 5:30 p.m.

(Cy 8:25 p.m.

(D) 8:30 p.m.’ '

It is observed that January 1, 2023 is

a .Sunday. In which year again the
January 1st will fall on a. Sunday?

(A) 2029

(B) 2030

(C) 2034

(D) 2037

[P.T.O.
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Directions (Question Nos. 37 to 41) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

The Lok Sabha is composed of representatives
of people chosen by direct election on
_the basis of Universal Adult Suffrage. The
maximum strength of the House is
552 members—530 members to represent the
States, 20 members to represent the Union
Territories and’ 2 members to be nominated
“by the President from the Anglo-Indian
Community. At present, the strength of the
House is 545. The term of the Lok Sabha,
unless dissolved, is five years from the date
appointed for its first meeting. However, while

a proclamation of emergency is in operation,

this period may be extended by the Parliament
by law for a period not exceeding one year at a
time and not extending in any case, beyond a
period of six months after the proclamation
has ceased to operate. After every Lok Sabha
election, the President invites the political
party or alliance of parties that has the
majority of new elected members to form the
Govemment :

37. The current and maximum strength of
the Lok Sabha are respectively

(a) 530 and 545 o
(B) 545 and 530
(C) 552 and 545

(D) None of the above

The number of members of the Lok

Sabha chosen by: direct . election” is
currently -

38.

(A) 545
(B) 543
(C) 530

(D) Cannot be known from.this excerpt

Latest Sarkari Jobs, Govt Exam Results,

-

¢

39. Which of the f0110wmg statements’ is
true?. . :

(A) There can be 2 membeérs from the
.- .Anglo-Indian Community chosen
_by direct e,lection.

(B) There are 20 members from the
: v Union Territories and 2 from the
.Anglo-Indian Community -chosen

~ by direct election,

(C) There are 20 members from the
.. Union Territories chosen by direct
.election and 2 from the Anglo-

. Indian Community nominated by
the President. '

- (D) +None of the ‘above '’

40 Whl]e a proclamatlon of emergency is in

operation, the term of the Lok Sabha
can be extended S '

- (A‘)‘ by the President_
(3) by the Parliament-
(C) by direct election
D) ﬁqne of the abo;re-:' ‘

s

-41. Based on the excerpt above, which of

the following is true?

(A) The mandate of people is important

. for formation of Government in the
Lok Sabha.

(B) The majority of members can form

the Government on their own

without invitation.

(C) The term of the Lok Sabha cannot
be extended under any
circumstances.

(D) None of the above

[P.T.O.

Vacancies and updates on one click



W (90 o 42 A 46) : PrafiRe @i %t w3
#Raaﬁﬁqmuﬁ%wilsamaam
TGN W A % =ty

Mﬁmmﬁmnﬁﬁfﬁﬁuﬁ%
R W A gm § srelq S, @ ok dawit 4
fosivia o < e ) W W P ER W,
A A el § F F AR w0 g @,
THA Wie] IR H 52% oI, sa%‘ﬁamﬁa'raﬁm
AEH 34% A1 IR F|T W 14% @ q@ A T
70 T #, sfoyaed). f T § e uiadd
HA ? R o BN T AR AW 17% 90T W@
29%@R@maﬁm54%mw%|wmm
T FR-dEfa s ¥ ww YEi-veiim
TR T T ) W O e § HR
% A Arer ) o A Jarsd F dvEm i o
T faerfha s & s €1 9 TEE Rl
s % o A R, 9vg YIRG 9 Faa
Terprefien s1sferaven WET S Gl & WS WRa &
A 47 1 Sfirpan W e e, wies darel
A w3, = N qemeds dwst 3 W)

s fra 3t W FN-wum adeEenst

st sforaenadt § aftwd gem, oik sud vve
B a1-WaR e o A Y 8 F agd
STl % FRO GUNFIR 91 39 VIR are S
W w8 R R A G 3 e ¥ e
i) aifig, wra &, sem & PEm § SaE 14% @
29% H 9iE g ?, *iR @ W fefes whet B
wﬁﬂmmméﬁmﬁmﬁﬁmtﬁaﬂ
T dmumy

42. m%wﬁaﬁmwmaﬁm |

A F &3 & AR
@A) 35%@? .
®) ﬁtﬁntm% '
© a’ﬂ%aﬁa&ﬂa%
(D) Iw H AR

S/F/P/11/2018/2-
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

43.

ﬁmﬁ%ﬂﬁﬁﬁﬂ-ﬂrwﬁ%?

(&) aﬁ@ﬁ%m sm-cﬂzranfaqawﬁ

@ﬁmsﬁaanfwmnmmm
W, s, B W a‘maﬂ %‘q'raﬁﬁf
o 31@!3394” I

,(iél)_'aehn i TR e 2 e

ﬁmﬁmtﬁmﬁ@ﬂ%%l

(© A o W

. fowmada miaaw CICIB T I
aﬁﬁﬁmﬁmmgﬁ%mﬁl

: (D) m{iﬂiﬁﬁ#?‘zﬁ

ﬂmmﬂaa@n%%maa%mﬁﬁl

. Pl i3 sm-mad e

C @ Y e s, b

et & am-R, mﬁa‘rﬁmwﬁﬁ
JanaAt-A ) 2

.(B) ﬁméﬁ'ﬁmm a{ffﬁa%anaﬂaﬁt

¥ WP seaads densfi 81 @ w0
&, T3 1 Aew e R

(O a7 e o

45.

et el @ w1 B, R serew,
Ao warsht ¥ T '

(D) -3wiw & 3 7
m%aﬁ‘rﬁ;

(A) mrcﬁa aq&famen g@m g;ﬁmm
aefeeeen §

(B) wif=rawen & Sei w1 AW 299% 2

(C) 3= Wefehl spads daredl ¥ T
it g il w o< finkan &

(D) 39§ ¥ 9 7




Directions (Question Nos. 42 to 46) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

Any economy can be divided into three
sectors, namely agriculture, industry and
services, based on the nature of productive
activity. India’s economy at the time of
independence was dominated by agriculture
contributing 52% to the gross domestic
product, followed by services with 34% and
industry with 14%. In the nearly 70 years
since that time, the structure of the economy
has changed dramatically, with agriculture
now contributing only 17%, industry 29%
and services 54%. Thus, the Indian economy
has transformed from an agriculture-driven
to a services-driven economy. A high share of
services in the economy and a corresponding
low share of agriculture is typically a sign of
a developed economy. While this is true of
the Indian economy as well, India can be
considered only a developing economy as the
services sector in India is largely composed
of low productivity, manual labour activity,
rather than high-technology value-added
services. Most developed countries have
transitioned from agricultural economies to
industrialized ones, and only then moved to
services-dominated economies. Large-scale
industrialization helped absorb the large
labour force from agriculture that became
unemployed or under-employed’ because of
rising productivity. However, in India, the
contribution of industry has grown only from
14% to 29%, and thus the surplus labour
force was forced to transition to low-paymg
jobs in the services sector. .

42. The share of agriculture in the gross
- domestic product between the time of
independence and now has

(A) fallen by 35% since independence

(B} reduced to half of its contribution
at independence

(C) reduced to less than half of its

contribution at independence
(D) None of the above

M/ )
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43. ‘Which of the following statements is
true?

(A) At the time of independence,
the Indian economy could be
considered a developing economy
because of high share of
agnculture and low share of
services.

(B) Today, the Indian economy can be
considered a developed economy
because of high share of services
and low share of agriculture.

(C) Today, the Indian economy can be
considered a developing economy
because of high share of services
and low share of agriculture.

(D) None of the above -

44, Which of the following is true of the
services sector in the Indian economy?

(A) It consists of only low productivity,
manual labour activity and
not high-technology ' value-added
services.

(B) It consists of both low productivity,
manual labour activity and high-

- technology value-added services,
though not in equal amounts.

{C) It consists mainly of high-
technology value-added services
and not of low productivity,
manual labour activity.

(D) None of the above

45, India is still considered a developing
economy because

(A) India, has predominantly an
agricultural economy

(B) industry contributes 29% to the
economy

(C) of large dependence on manual
labour activity instead of high-
technology value-added services

(D) None of the above

[P.T. O.
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47.
. a programme callqd_ ‘Clean Ganga’. This

48.

" 46.

Which of the following can be concluded

from the information provided in the
~ excerpt?

(A} Since the share of industry has
increased from 14% to only 29%,
large-scale industrialization has
not happened.

(B) Surplus labour force from
agriculture was forced to work in
the services sector.

(C) Both of the above

(D) None of the above

The Government of India launched
is because
(A) the Ganga is a holy river

(B) contaminated Ganga water can
spread contagious disease

(C}) groundwater cannot be used for
drinking purpose

(D) it can attract more tourists

Should all train engines operated by
coal be converted to electric engines?

(A) Yes, coal engines pollute the
environment more than electric
engines.

(B) Yes, electric ‘engines are more
powerful and efficient.

(Cj 'No, we do not have eriough electric
power to cater to the need of
domestic use.

(D) No, we have enough coals to run
. train engines.

49. The order of the tricolour of the Indian

Flag from top to bottom is in which of
the following sequences?

(A) Saffron, White with 24-spoke
Wheel, Green

{B) Green, White with - 24-spoke
Wheel, Saffron

(C) Saffron, White with 22-spoke
Wheel, Green

(D) Green, White with 22-spoke

50.

51.

52'
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Wheel, Saffron

Some chickens are hens. All chickens
are birds. Female birds lay eggs. All
eggs are not fertile. Which of the
following is logical in this regard?

(A) All birds do not lay eggs.

(B} Some chickens are not hens.

(C) Al birds are hens.

(D) All eggs are fertile.

In a code language, FRIEND is coded

as HUMJTK. In the same language,
BHOPAL will be coded as

(A) DJQRCN
(B) CJRTEQ
(C) DKSUGS
(D) DLSVHT

Five people are planning to share
equally the cost of a rental apartment.
If one person withdraws from the
agreement and others share equally
the entire rental of the apartment, then
the share of each of the - remaining
persons is increased by

B) 4%
(B) 5%
€) 6%
D) 7%

1

[P.T.O. "
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'83. Consider the following :

54.

55.

CoINAr | 2

21 | 16

35 [\ 40

14 42

Find the missing number.

(A) 12 (B) 13
(C) 14 (D) 15
What is the importance of developing

Chabahar Port by India?

(A) India’s trade with African countries
. will enormously increase.

(B) India’s relations with oil-producing
Arab countries will be strengthened.

(C) 'India will not depend on Pakistan
for access to Afghanistan and
Central Asia. '

(D) Pakistan will facilitate and protect
the installation of a gas pipeline
between Iraq and India.

For election to the Lok Sabha,
a nomination paper can be filed by

(A) anyone residing in India

(B) a resident of the constituency from
which the election is'‘to be
contested

{C) non-resident Indian below 30 years
of age

(D) citizen of India of 30 years of age

56.

The school- Principal received several
complaints from parents about bullying
in the school campus during recess.
He wants to investigate the matter and
find the culprit, Therefore, he instructs
to one of his teachers to look after
the students during the recess. Which
situation should the teacher report to
the Principal?

(A) A lonely girl is sitting under the
tree and crying,.

.-(B) Four boys are forcefully trying to

57.

. (B) .To,- increase the
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open another boy’s backpack.

(C) Five girls are playing catch and

throw game.

]

(D) Three boys are huddled -over
a mobile phone which is not
supposed to be on-school campus.

What is the purpose . of- Vidyanjali
Yojana™? .- -

{A) To - enable the .famous . foreign
educational institutions to open
their campuses in India’

quality - of
education provided in government
schools by taking help from the
private sector and the community

(C) To encourage voluntary monetary
contributions from private
individuals and organizations so
as to improve the infrastructure
facilities for primary and secondary

schools
(D) To enable Indian educational
institutions to open  their
campuses abroad
[P.T.O.
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58.

59.

60.

‘Right' to Vote’ in India is a

~(A) Fundamental .Right
(B) Natural Right

(C) Constitutional Right

(D) Legal Right

!

Which of - the followinig is not the

objective =~ of ‘National  Nutrition
Mission™? ) .
(A) To ~create awareness relating

to malnutrition among pregnant
women and lactating mothers

(B) To reduce the incidence of anemia
among young children, adolescent
girls and women

(C}) To promote the consumption
of millets, coarse cereals and
unpolished rice

(D) To promote the consumption of
" poultry eggs o

A3P means A is mother of P. A4P means
A is brother of P. A9P means A is
husband of P, ASP means A is daughter
of P. Which of the following means that
K is the mother-in-law of M and J is the
brother-in-law of M?

(A) MON3K4J

(B) MONS5K3J"
(C) K5JOM3N

(D) None of the above

Directions (Question Nos. 61 to 65) : In each
of the questions below is given a statement
followed by two assumptions numbered I
and II. Consider the assumptions and decide
which of them is/are implicit in the given
statement. :

61.

62.

’

The International Solar Alliance seeks
to bring down the cost of producing
solar power.

Assumption I :

Promotion of R & D, particularly in
the area of efficient storage systems.

Assumption II :

Member will be legélly bound
to increase the solar energy
generation.

(A) Assumption I is strong
(B) Assumption Il is strong -
(C) Assumptions I and II are strong

(D) Neither assumption I nor I is
strong )

A Physics feapher in the class
announced to keep a copy of Concepts
of Physics written by H. C. Verma.

Assumption I :
The book is well-written. .

Assumption II :

Every student can afford to buy
the book.

(A) Assumption I is strong
(B) Assumption Il is strong
(C) Assumptions I and Il are strong

(D) Neithéer assumption I nor II is
strong
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63.

64.

65.

Tuition fee shall be abolished from all
government engineering and medical
colleges. . '

Assumption I :
Colleges have enough financial
support from the government.
Assumption II : |
All meritorious students shall get

free education irrespective of caste,
religion and economical background.

(A) Assumption I is strong

(B) Assumption II is strong =

(C) Assumptions I and II are gtrong

(D) Neither assumption I nor II is
strong

Drastic increase in pollution is now
a global phenomenon.
Assumption I :
All countries have realized it and
working towards the control.

Assumption I, :
Growing  population,
highways and
beyond control.

{A) Assumption I is strong

(B) Assumption II is strong

{C) Assumptions I and II are strong

industries,
constructions are

(D) Neither assumption I nor II is

strong

Tuberculosis (TB) is a pandemic issue

now,
Assumption I :
Government should work towards

complete eradication of diseases like
Polio.

Assumption II :

. Tuberculosis is not a serious disease
and treatment is available,

(A} Assumption I is strong

(B) Assumption II is strong

(C) Assumptions I and II are strong

(D) Neither assumption I nor II is
strong ;

66.

In a college survey, 3/16 students
said that they prefer online method
to pay their mobile bills, 5/8 said
they prefer to go to a mobile shop for
the bill payment. The remaining
75 students said they had no clear
choice. How many students preferred
online method and what is the total
number of students? |

_(A) 75 and 400

67.

68.

69.
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(B) 125 and 300
(C) 75 and 300
(D) 150 and 400 °

The pair ‘Before. :
related to

After’ is correctly

(A) First : Second

(B) Past : Present

(C) Historic : Contemporary

(D) Predecessor : Successor

If 1 represents cotton, 2 represents
plough, 3 represents mill, 4 represents

clothes and 5 represents seed, then
arrange the given numbers in

" a meaningful manner.

(A) 25314

(B) 52134

(C) 25134

(D) 52314 -

Eating home food is always a better
choice as the hotel food is

(A) very expensive

(B) unhygienic and very spicy

(C) tasty and full of nutrition

iD) All of the above

[P.T.O.
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70. Find out the correct figure from the
multiple choices for the question mark
shown below to make the series in
order :

A\l »
AN

Answer Figures :

O O

(A) {B) (&) (D)

71. Which one of the following groups of
letters is the odd one out?

(A) CEFH (B} HJKN

(C) PRSU (D) UWXzZ

72. What number should replace the
question mark shown below?

4 9 19

§12(1 |73 |2|[|183]?]5

6 6 11
(A) 4 {B) 6
() 8 (D). 10

73. Find out the right answer for the
question mark :

al-@] (7)1

Answer Figures :

Al @l | ¢l |[E

(A) ®  © D)
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T4. Which is the missing square in the
, following options?

v/

AN PN

Answer Figures :

V A\

(A} - - (B) (C) (D)

< <>

75. 11AQ=9,A =27, [@ =81, then AlEl=?
(A) 283 (B) 382
(C) 823 (D) 621

76. Find out -how many rectangles are
present in the. following figure : -

(B) 36
(D) 40

A) 39
(C) 38

Directions (Question Nos. 77 to 80) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

Availability of pre- and post-natal health care
facilities in order to reduce infant mortality
and post-delivery deaths among mothers, old
age health care, adequate nutrition and safety
of individual are some important measures
of a healthy and reasonably long life. India has
done reasonably well-in some of the health

[P.T.O.
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indicators -like .decline' in' death rate from
251 per thousand in 1951 to 81 per
thousand in 1999, and infant mortality from
148 per thousand.to 70 during the same
period. Similarly, it also succeeded in
increasing life expectancy ‘at birth from
37'1 years to 623 years for males and
362 years to 653 years for females from
1951 to 1999. Though, these are great
achievements, -4 lot needs to be’ done.
Similarly, it has also done reasonably well in
bringing down birthrate from 408 to 261
during the same years, but it still is much
higher than that of many dcveloped countries.

The situation is more alarming when seen in
the context of gender specific and rural and
urban health indicators. India has recorded
declining female sex ratio. The findings of
2001- Census of India are’.very dlsturbmg
partlcularly in case of child sex ratio between
0-6 age groups. The other sxgmﬁcant features
of the report are, with the exceptlon of Kerald,
the child sex ratio has declined in all the
States and it i§ the most alarming in the
developed States of Haryana and Punjab,
where it is. below 800 female chlldren per
thousand male children.

.77. Which of the followmg statements
is/are true?

(A) Pre- and post-natal health care
facilities reduce infant mortahty
and -post-delivery deaths among
mothers.

Pre- and post-natal health care
facilities reduce infant mortality
and post-delivery deaths among
mothers and deaths among old
people.

B

P

(C} Both of the above

(D} None of the above
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78. Between 1951 and 1999, the death rate

C T
"~ the life expectancy at birth

(B)

) 'In 1951,

and infant mortality rate have fallen by

" (A) more than 2 times and 3 times

respectively

more than 3 times and 2. times
. respectively

A

(C) more than 3 times and 3 tlmes

rcspectlvely

(D) None of the above

Consider the 'folloﬁ‘ring statements on

it was higher for 'males
“than for females, and in 1999, i
was - lower for males than for
females.

Between 1951 and 1999, it has
increased for both males and
females.

{in

Choose the correct answer from the
given alternatives.

(A) Only statement (I) is true
(B) Only statement (II) is true
(C) Both the statements are true

(D) Both the statements are not true

80. The child sex ratio in Kerala is

that in Punjab. .

{A) higher than

_ (B) lower than

(C) equal to

(D) Cannot be concluded from the
excerpt .
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